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Name : .............

v semester B.A. Degree (cBcss - oBE - Regurar/supptementary/
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(201 9 Admission Onwards)
CORE COURSE IN ECONOMICS/DEVELOPMENT ECONOMICS

5BO8ECO/DEV ECO : Heterodox Economics
Time : 3 Hours 

Max. Marks : 40

PART _ A

{Answer all questions. Each question carries i mark.)

1. Rationality.

2. Market failure

3. Conspicuous consumption.

4. Behaviourai economics.

5. Rate of surplus value.

6' Neuro economics. 
(1x6=6)

PART _ B

(Answer any six qL,lestions. Each question carries 2 marks.)

7. Write a note on the labour theory of value.

8. Define dialectical materialism.

I' what is meant by irnmiseration of the proretariat ?

10. Write a note on ecological economtcs.

11. Explain the crisrs of capitarism envisaged by Karr Marx.

12. \l/rite a note on feminist economics.
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13. Why db we call Keynesian economics as Keynesian revolution ?

14. What is meant by the industrial reserve arrny of labour ? (2x6=121

PART * C

(Answer any four questions. Each question carries 3 marks.)

15. Make a criticai assessment of mainstrearn economics.

16. What are the main features of Schumpeter's theory of innovation ?

17. What is the theory of surplus value ? What are the ways to increase it ?

18. What is the relevance of Marxian economics in the contemporary world ?

19. Can we consider Marx as a heterodox economist ? Whv ?

20. What is the reievance of Gandhian economics in modern lndia ? (3x4=12)

PART _ D

(Answer any two questions. Each question carries five rnarks.)

2'1. Define hetei"odox ecoi-lomics. What are the nature anC scope of hete rodox
economics ?

22. What are the maior ideas of Marxian economics ? How it contradicted orthodox
economics ?

23. Make a criticai assessmeni of Vebien's ideas. How ii is similar to lMarx's ideas ?

24. Explain common features of heterodox economics and Gandhian economics.
(5x2=10)


